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सॊयव्मात्भक ष्टिमधमाॉ (QUANTITATIVE METHODS) 

नोट- सबी ऩाॉच प्रश्नों के उत्तय दीजजए। प्रत्मेक इकाई से एक प्रश्न कयना अमनिामि है। सबी प्रश्नों के अॊक सभान हैं।  

Note : Attempt all the five questions. One question from each unit is compulsory. All questions carry 

equal marks.  

1. अिकरन के मनमभ फताइमे। इकाई-1 

Give rules of differentiation. Unit- I   

(b) मद्रद भाॉग का मनमभ 
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x  हो तो कीभत साऩेऺ p = 3 ष्टफन्द ुऩय भाॊग की रोच ऻात कीजजए। 

If the demand of law is 
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x find ed with respect to price at the point where p = 3.  

(अथिा)  

मनम्नमरजखत सभॊकों से आमु एिॊ खेरने की आदत के भध्म सहसम्फन्ध गुणक ऻात कीजजए?  

Calculate the coefficient of correlation between age and playing habits from the following data :  

आमु  जनसॉख्मा जखराद्रडमों की सॊख्मा  

15-20 1500 1200 

20-25 2000 1560 

25-30 4000 2280 

30-35 3000 1500 

35-40 2500 1000 

40-45 1000 300 

45-50 800 200 

50-55 500 50 

55-60 200 6 

2. मनम्नमरजखत परनों के अमधकतभ तथा न्म नतभ भ ल्म ऻात कीजजए- इकाई-2  

Find the maximum and minimum values of the following functions: Unit- II 

(i) y = x
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(अथिा)  

मद्रद भाॊग का मनमभ p= 85-4x-x- तो उऩबोक्ता का आमधक्म क्मा होगा मद्रद (i) xo =5 एिॊ (ii) po= 64 

If the demand law is p = 85 - 4x– x
2
 , what will be the consumer's surplus if : (i) xo =5 and (ii) po = 64  

3. मनम्नमरजखत आव्म ह का व्मुत्क्रभ ऻात कीजजए - इकाई-3  

Find the inverse of the following matrix : Unit- III  
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(अथिा)  

द्रिऩद एिॊ प्िामसाॊ फॊटन की भखु्म ष्टिशेषताएॉ फताइमे।  

(Or) Explain the main characterics of Binomial and Poisson distribution. 

4. एक फीभा कम्ऩनी 2,000 स्क टय चारकों 4,000 काय चारकों तथा 6,000 ट्रक चारकों का फीभा कयती 
है। दघुिटना की सॊबािना क्रभश् 0.01, 0.03 एिॊ 0.1 5 है। एक फीमभत व्मष्टक्त दघुिटना को प्राप्त होता है। 
क्मा सॊबािना है द्रक िह स्क टय चारक है? इकाई-4  



An insurance company insured 2000 scooter drivers 4000 car drivers and 6000 truck drivers. The 

probability of accident is 0.01.0.03 and 0.15 respectively. One of the insured person meets an accident. 

What is the probability that he is a scooter driver? http://www.rdvvonline.com 

(अथिा) आगत मनगित ष्टिशे्लषण ऩय एक मनिन्ध मरजखए।  

(Or) Write an essay on input-Output analysis.  

5. सॊजऺप्त द्रटप्ऩणी मरजखए- इकाई-5  

(i) प्रमतचमन के प्रकाय (ii) श न्म एिॊ िैकजल्ऩक उऩकल्ऩना  

Write short notes on: Unit- V  

(i) Types of sampling (ii) Null and Alternate Hypothesis  

(अथिा)  

टीकाकयण के एक प्रमोग भें मनम्नमरजखत मनष्कषि प्राप्त हुए- 

 In as experiment on immunization the following results were obtained: 

प्रबाष्टित Affected  अप्रबाष्टित Unaffected  

टीकाकृत inoculated   12    28  

गैय टीकाकृत No inoculated  1 3    7 

फीभायी की योकथाभ भें टीकाकयण के प्रबािों का ऩयीऺण कीजजए।  

Examine the effect of vaccine in controlling the incidence of the disease. 

  


